Sub: ‘ Solution of IAT 1- Design Of RC Structural Elements | Sub code: | 15CV51

Answer any two full questions

1 (a) | Clearly distinguish between under reinforced, balanced reinforced and over reinforced sections with neat sketch.
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(b)

A rectangular RCC beam 300mm wide and 500mm deep is reinforced with 4 bars of 16mm dia. It is freely supported

on an effective span of 6m. Determine the max permissible imposed service load. Assuming M20 grade concrete &Fe
-500 steel.
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2 ()

Explain the characteristic strength, characteristic load, design strength and design load
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(b)

Derive the all the stress block parameter for a singly reinforced rectangular beam.
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3(a)

Explain the designlbhilosophy and design principle.
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(b)

A continuous T beam has the cross-sectional dimension of breadth of flange 1500mm, depth of flange=100mm, web
width=300mm. Factored moment is 800kN-m. Determine the flexural reinforcement at mid span of the beam
considering Mas grade concrete and Fe 415 steel. Adopt the beam exposed to moderated exposure condition
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